

## Confidence in the built environment.

February 2, 2024

Town of Whitestown Attn: Danny Powers 6210 Veterans Dr., Rm. 600 Whitestown, IN 46075

Re: Community Crossings Paving Program

2023-2 Funding - Application #13096

Bid Certification and Award Recommendation

Dear Mr. Powers,

We have reviewed and certified the bids for the referenced project. Please see the attached documents. The apparent low, responsive, responsible bidder for the project is Midwest Paving, LLC. Their bid for Application #13096 is \$978,968.72. This amount falls within the INDOT funding award amount and now sets the Town's match amount for this application at \$510,017.61. This covers 50% of the CCMG eligible amount plus the additional \$41,066.49 non-CCMG eligible amount.

Upon legal review, the Town of Whitestown, at their discretion, may award the project accordingly. Once that is complete, documentation including the agreement between the Town of Whitestown and the awarded contractor will need to be sent to INDOT to obtain the funding for the project.

If you have any questions, please contact me.

Sincerely,

Josh Grabijas, P.E.

Attachments - Bid Tabulation



## Town of Whitestown Community Crossings Paving Program 2023-2 Funding - Application #13096 Bid Tabulation

Bid Opening: 01/31/24

			Midwest Paving, LLC		Calumet Civil Contractors, Inc.		Howard Asphalt LLC dba Howard Companies		All Star Paving, Inc.	
Sub-project A: E 200 S - MAIN ST to Approximately 1,824 LFT east of S 70	0 E Mill a	and HMA Ov	erlay with W	edge & Level	and Patchin	g				
Pay Item Description	Units	Quantity	Unit Price	Total	<b>Unit Price</b>	Total	<b>Unit Price</b>	Total	Unit Price	Total
Construction Engineering	LS	1.00	\$1,060.07	\$1,060.07	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
Mobilization and Demobilization	LS	1.00	\$9,889.83	\$9,889.83	\$3,400.00	\$3,400.00	\$5,000.00	\$5,000.00	\$10,400.00	\$10,400.00
Milling, Transition	SYS	1,383.00	\$1.22	\$1,687.26	\$2.50	\$3,457.50	\$2.00	\$2,766.00	\$0.66	\$912.78
Compacted Aggregate, No. 73	TON	4.00	\$78.01	\$312.04	\$189.00	\$756.00	\$100.00	\$400.00	\$196.25	\$785.00
Milling, 1.5"	SYS	12,031.00	\$1.68	\$20,212.08	\$1.95	\$23,460.45	\$2.00	\$24,062.00	\$1.75	\$21,054.25
HMA Patching, Type B	TON	450.00	\$137.94	\$62,073.00	\$136.00	\$61,200.00	\$130.00	\$58,500.00	\$178.50	\$80,325.00
HMA, 9.5mm, Surface, Type B	TON	1,124.00	\$92.56	\$104,037.44	\$91.00	\$102,284.00	\$92.00	\$103,408.00	\$109.50	\$123,078.00
HMA Wedge and Level, Type B	TON	1,124.00	\$82.80	\$93,067.20	\$91.00	\$102,284.00	\$92.00	\$103,408.00	\$100.50	\$112,962.00
HMA for Approaches, Type B	TON	120.00	\$136.34	\$16,360.80	\$150.00	\$18,000.00	\$92.00	\$11,040.00	\$147.25	\$17,670.00
Joint Adhesive, Surface	LFT	4,922.00	\$0.76	\$3,740.72	\$0.50	\$2,461.00	\$1.00	\$4,922.00	\$0.29	\$1,427.38
Liquid Asphalt Sealant	LFT	4,922.00	\$0.03	\$147.66	\$0.50	\$2,461.00	\$0.50	\$2,461.00	\$0.29	\$1,427.38
Pipe, Type 1, Circular, 15"	LFT	80.00	\$39.95	\$3,196.00	\$90.00	\$7,200.00	\$88.00	\$7,040.00	\$125.35	\$10,028.00
Structure Backfill, Type 1	CYD	17.00	\$146.99	\$2,498.83	\$55.50	\$943.50	\$125.00	\$2,125.00	\$81.25	\$1,381.25
Asphalt for Tack Coat	TON	6.90	\$712.37	\$4,915.35	\$1,800.00	\$12,420.00	\$1.00	\$6.90	\$890.00	\$6,141.00
Line, Thermoplastic, Solid, White, 4 in.	LFT	9,498.00	\$0.85	\$8,073.30	\$1.25	\$11,872.50	\$1.25	\$11,872.50	\$1.36	\$12,917.28
Line, Thermoplastic, Solid, Yellow, 4 in.	LFT	8,948.00	\$0.90	\$8,053.20	\$1.25	\$11,185.00	\$1.25	\$11,185.00	\$1.38	\$12,348.24
Pavement Message Marking, Thermoplastic Lane Indication Arrow	EACH	2.00	\$238.52	\$477.04	\$150.00	\$300.00	\$150.00	\$300.00	\$200.00	\$400.00
Pavement Message Marking, Thermoplastic, Word Only	EACH	2.00	\$238.52	\$477.04	\$200.00	\$400.00	\$200.00	\$400.00	\$250.00	\$500.00
Transverse Marking, Thermoplastic, Stop Line, White, 24 in.	LFT	96.00	\$21.20	\$2,035.20	\$15.00	\$1,440.00	\$15.00	\$1,440.00	\$12.00	\$1,152.00
Maintenance of Traffic	LS	1.00	\$7,660.37	\$7,660.37	\$10,000.00	\$10,000.00	\$4,250.00	\$4,250.00	\$8,370.00	\$8,370.00
Sub-project A Total			_	\$349,974.43		\$375,674.95	_	\$356,086.40	_	\$424,779.56

sub-Project B: MAIN ST - Approximately 231 LFT south of E 230 S to E 200 S Mill and HMA Overlay with Wedge & Level and Patching										
Pay Item Description	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Construction Engineering	LS	1.00	\$1,060.07	\$1,060.07	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
Mobilization and Demobilization	LS	1.00	\$7,455.08	\$7,455.08	\$2,250.00	\$2,250.00	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00
Compacted Aggregate, No. 73	TON	16.00	\$54.91	\$878.56	\$189.00	\$3,024.00	\$100.00	\$1,600.00	\$196.25	\$3,140.00
Excavation, Common	CYS	69.00	\$41.61	\$2,871.09	\$35.00	\$2,415.00	\$70.00	\$4,830.00	\$103.00	\$7,107.00
Milling, 1.5"	SYS	5,472.00	\$2.26	\$12,366.72	\$1.95	\$10,670.40	\$2.00	\$10,944.00	\$1.60	\$8,755.20
Milling, Transition	SYS	141.00	\$7.19	\$1,013.79	\$2.50	\$352.50	\$2.00	\$282.00	\$0.66	\$93.06
HMA Patching, Type B	TON	61.00	\$156.15	\$9,525.15	\$136.00	\$8,296.00	\$130.00	\$7,930.00	\$178.75	\$10,903.75
HMA, 9.5mm, Surface, Type B	TON	452.00	\$93.60	\$42,307.20	\$91.00	\$41,132.00	\$92.00	\$41,584.00	\$109.50	\$49,494.00
HMA Wedge and Level, Type B	TON	144.00	\$86.97	\$12,523.68	\$91.00	\$13,104.00	\$92.00	\$13,248.00	\$100.50	\$14,472.00
HMA for Approaches, Type B	TON	2.00	\$289.46	\$578.92	\$150.00	\$300.00	\$92.00	\$184.00	\$146.40	\$292.80
Pipe, Type 1, Circular, 12"	LFT	126.00	\$45.36	\$5,715.36	\$89.00	\$11,214.00	\$80.00	\$10,080.00	\$99.25	\$12,505.50
Ditch Cleaning	LFT	4,070.00	\$3.62	\$14,733.40	\$9.00	\$36,630.00	\$8.00	\$32,560.00	\$15.00	\$61,050.00
Structure Backfill, Type 1	CYS	69.00	\$146.94	\$10,138.86	\$55.50	\$3,829.50	\$125.00	\$8,625.00	\$232.50	\$16,042.50
Line, Thermoplastic, Solid, White, 4 in.	LFT	4,477.00	\$0.85	\$3,805.45	\$1.25	\$5,596.25	\$1.25	\$5,596.25	\$1.34	\$5,999.18
Line, Thermoplastic, Solid, Yellow, 4 in.	LFT	4,477.00	\$0.90	\$4,029.30	\$1.25	\$5,596.25	\$1.25	\$5,596.25	\$1.36	\$6,088.72
Joint Adhesive, Surface	LFT	2,239.00	\$0.81	\$1,813.59	\$0.50	\$1,119.50	\$1.00	\$2,239.00	\$0.29	\$649.31
Liquid Asphalt Sealant	LFT	2,239.00	\$0.03	\$67.17	\$0.50	\$1,119.50	\$0.50	\$1,119.50	\$0.29	\$649.31
Asphalt for Tack Coat	TON	2.80	\$712.37	\$1,994.64	\$1,800.00	\$5,040.00	\$1.00	\$2.80	\$890.00	\$2,492.00
Maintenance of Traffic	LS	1.00	\$3,218.42	\$3,218.42	\$9,000.00	\$9,000.00	\$4,250.00	\$4,250.00	\$2,100.00	\$2,100.00
Sub-project B Total				\$136,096.45		\$160,838.90		\$157,170.80		\$209,834.33
Sub-Project C: E 225 S - MAIN ST to S 675 E Mill and HMA Overlay with	Wedge & I	.evel								
Pay Item Description	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	<b>Unit Price</b>	Total
Construction Engineering	LS	1.00	\$1,060.07	\$1,060.07	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
Mobilization and Demobilization	LS	1.00	\$6,514.39	\$6,514.39	\$600.00	\$600.00	\$2,500.00	\$2,500.00	\$6,600.00	\$6,600.00
Compacted Aggregate, No. 73	TON	5.00	\$68.77	\$343.85	\$189.00	\$945.00	\$100.00	\$500.00	\$196.25	\$981.25
HMA for Approaches, Type B	TON	19.00	\$124.62	\$2,367.78	\$150.00	\$2,850.00	\$92.00	\$1,748.00	\$147.00	\$2,793.00
Joint Adhesive, Surface	LFT	1,173.00	\$0.79	\$926.67	\$0.50	\$586.50	\$1.00	\$1,173.00	\$0.29	\$340.17
Liquid Asphalt Sealant	LFT	1,173.00	\$0.03	\$35.19	\$0.50	\$586.50	\$0.50	\$586.50	\$0.29	\$340.17
Excavation, Common	CYS	83.00	\$53.21	\$4,416.43	\$35.00	\$2,905.00	\$70.00	\$5,810.00	\$89.25	\$7,407.75
Milling, 3.5"	SYS	2,606.00	\$7.17	\$18,685.02	\$3.90	\$10,163.40	\$3.00	\$7,818.00	\$3.30	\$8,599.80
PCCP for Approaches, 6 in.	SYS	75.00	\$127.72	\$9,579.00	\$155.00	\$11,625.00	\$220.00	\$16,500.00	\$152.00	\$11,400.00
Pipe, Type 1, Circular, 12"	LFT	200.00	\$55.99	\$11,198.00	\$89.00	\$17,800.00	\$80.00	\$16,000.00	\$99.25	\$19,850.00
Ditch Cleaning	LFT	2,132.00	\$2.97	\$6,332.04	\$9.00	\$19,188.00	\$8.00	\$17,056.00	\$13.50	\$28,782.00
Structure Backfill, Type 1	CYS	83.00	\$147.07	\$12,206.81	\$55.50	\$4,606.50	\$125.00	\$10,375.00	\$232.50	\$19,297.50
HMA, 9.5mm, Surface, Type B	TON	215.00	\$96.21	\$20,685.15	\$91.00	\$19,565.00	\$92.00	\$19,780.00	\$109.50	\$23,542.50
HMA, 19.0mm, Intermediate, Type B	TON	359.00	\$84.68	\$30,400.12	\$84.00	\$30,156.00	\$85.00	\$30,515.00	\$103.00	\$36,977.00
Asphalt for Tack Coat	TON	1.40	\$712.37	\$997.32	\$1,800.00	\$2,520.00	\$1.00	\$1.40	\$890.00	\$1,246.00
Maintenance of Traffic	LS	1.00	\$2,164.02	\$2,164.02	\$2,800.00	\$2,800.00	\$3,500.00	\$3,500.00	\$2,900.00	\$2,900.00
Sub-project C Total	•	•		\$127,911.86		\$127,046.90		\$135,362.90		\$172,557.14

Sub-Project D: E 230 S - MAIN ST to S 675 E Mill and HMA Overlay with Wedge & Level										
Pay Item Description	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Construction Engineering	LS	1.00	\$1,060.07	\$1,060.07	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
Mobilization and Demobilization	LS	1.00	\$7,771.66	\$7,771.66	\$600.00	\$600.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
Compacted Aggregate, No. 73	TON	14.00	\$58.21	\$814.94	\$189.00	\$2,646.00	\$100.00	\$1,400.00	\$56.00	\$784.00
Excavation, Common	CYS	99.00	\$47.29	\$4,681.71	\$35.00	\$3,465.00	\$70.00	\$6,930.00	\$81.50	\$8,068.50
Milling, 3.5"	SYS	2,572.00	\$7.23	\$18,595.56	\$3.90	\$10,030.80	\$3.00	\$7,716.00	\$3.30	\$8,487.60
PCCP for Approaches, 6 in.	SYS	24.00	\$158.26	\$3,798.24	\$155.00	\$3,720.00	\$220.00	\$5,280.00	\$141.00	\$3,384.00
Pipe, Type 1, Circular, 12"	LFT	240.00	\$47.23	\$11,335.20	\$89.00	\$21,360.00	\$80.00	\$19,200.00	\$102.00	\$24,480.00
Pipe, Type 1, Circular, 18"	LFT	40.00	\$72.43	\$2,897.20	\$109.50	\$4,380.00	\$105.00	\$4,200.00	\$110.00	\$4,400.00
Ditch Cleaning	LFT	2,104.00	\$3.39	\$7,132.56	\$9.00	\$18,936.00	\$8.00	\$16,832.00	\$15.00	\$31,560.00
Structure Backfill, Type 1	CYS	99.00	\$147.09	\$14,561.91	\$55.50	\$5,494.50	\$125.00	\$12,375.00	\$232.50	\$23,017.50
HMA, 9.5mm, Surface, Type B	TON	213.00	\$96.35	\$20,522.55	\$91.00	\$19,383.00	\$92.00	\$19,596.00	\$109.50	\$23,323.50
HMA, 19.0mm, Intermediate, Type B	TON	354.00	\$84.81	\$30,022.74	\$84.00	\$29,736.00	\$85.00	\$30,090.00	\$103.00	\$36,462.00
Catch Basin	EACH	2.00	\$1,919.04	\$3,838.08	\$1,780.00	\$3,560.00	\$5,750.00	\$11,500.00	\$4,500.00	\$9,000.00
Joint Adhesive, Surface	LFT	1,158.00	\$0.79	\$914.82	\$0.50	\$579.00	\$1.00	\$1,158.00	\$0.29	\$335.82
Liquid Asphalt Sealant	LFT	1,158.00	\$0.03	\$34.74	\$0.50	\$579.00	\$0.50	\$579.00	\$0.29	\$335.82
HMA for Approaches, Type B	TON	21.00	\$120.44	\$2,529.24	\$150.00	\$3,150.00	\$92.00	\$1,932.00	\$147.50	\$3,097.50
Asphalt for Tack Coat	TON	1.30	\$712.37	\$926.08	\$1,800.00	\$2,340.00	\$1.00	\$1.30	\$890.00	\$1,157.00
Maintenance of Traffic	LS	1.00	\$2,733.50	\$2,733.50	\$3,500.00	\$3,500.00	\$4,250.00	\$4,250.00	\$1,000.00	\$1,000.00
Sub-project D Total				\$134,170.80		\$133,609.30		\$147,039.30		\$186,893.24
Sub-Project D: Non-CCMG Eligible Items										
Pay Item Description	Units	1.00	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Excavation, Common	CYS	78.00	\$53.23	\$4,151.94	\$35.00	\$2,730.00	\$70.00	\$5,460.00	\$93.00	\$7,254.00
Structure Backfill, Type 1	CYS	57.00	\$148.25	\$8,450.25	\$55.50	\$3,163.50	\$125.00	\$7,125.00	\$232.50	\$13,252.50
Pipe, Type 1, Circular, 18"	LFT	175.00	\$57.04	\$9,982.00	\$109.50	\$19,162.50	\$105.00	\$18,375.00	\$94.00	\$16,450.00
Manhole, Type C	EACH	1.00	\$4,586.94	\$4,586.94	\$5,475.00	\$5,475.00	\$6,250.00	\$6,250.00	\$4,385.00	\$4,385.00
Tree, Remove, 42"	EACH	1.00	\$10,821.36	\$10,821.36	\$9,000.00	\$9,000.00	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00
Sodding Bursery	SYD	58.00	\$53.00	\$3,074.00	\$31.50	\$1,827.00	\$31.00	\$1,798.00	\$25.25	\$1,464.50
Sub-project D Non-CCMG Total			_	\$41,066.49	_	\$41,358.00		\$51,508.00		\$47,806.00

Sub-Project E: S 675 E - E 230 S to E 225 S Mill and HMA Overlay with W	edge & Le	vel		1		1			1	
Pay Item Description	Units	1.00	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Construction Engineering	LS	1.00	\$1,060.07	\$1,060.07	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$555.00	\$555.00
Mobilization and Demobilization	LS	1.00	\$6,084.17	\$6,084.17	\$600.00	\$600.00	\$2,500.00	\$2,500.00	\$3,400.00	\$3,400.00
Compacted Aggregate, No. 73	TON	14.00	\$58.21	\$814.94	\$189.00	\$2,646.00	\$100.00	\$1,400.00	\$196.00	\$2,744.00
Excavation, Common	CYS	8.00	\$113.17	\$905.36	\$35.00	\$280.00	\$70.00	\$560.00	\$93.00	\$744.00
Milling, 3.5"	SYS	807.00	\$7.43	\$5,996.01	\$3.90	\$3,147.30	\$3.00	\$2,421.00	\$3.30	\$2,663.10
Pipe, Type 1, Circular, 12"	LFT	20.00	\$66.73	\$1,334.60	\$89.00	\$1,780.00	\$80.00	\$1,600.00	\$105.00	\$2,100.00
Ditch Cleaning	LFT	660.00	\$3.92	\$2,587.20	\$9.00	\$5,940.00	\$8.00	\$5,280.00	\$13.00	\$8,580.00
Structure Backfill, Type 1	CYS	8.00	\$147.06	\$1,176.48	\$55.50	\$444.00	\$125.00	\$1,000.00	\$232.50	\$1,860.00
HMA, 9.5mm, Surface, Type B	TON	67.00	\$105.60	\$7,075.20	\$91.00	\$6,097.00	\$92.00	\$6,164.00	\$109.50	\$7,336.50
HMA, 19.0mm, Intermediate, Type B	TON	112.00	\$90.28	\$10,111.36	\$84.00	\$9,408.00	\$85.00	\$9,520.00	\$102.00	\$11,424.00
Joint Adhesive, Surface	LFT	363.00	\$1.04	\$377.52	\$0.50	\$181.50	\$1.00	\$363.00	\$0.29	\$105.27
Liquid Asphalt Sealant	LFT	363.00	\$0.03	\$10.89	\$0.50	\$181.50	\$0.50	\$181.50	\$0.29	\$105.27
HMA for Approaches, Type B	TON	3.00	\$219.86	\$659.58	\$150.00	\$450.00	\$92.00	\$276.00	\$146.50	\$439.50
Asphalt for Tack Coat	TON	0.50	\$712.36	\$356.18	\$1,800.00	\$900.00	\$1.00	\$0.50	\$890.00	\$445.00
Maintenance of Traffic	LS	1.00	\$911.17	\$911.17	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
Sub-project E Total	I.			\$39,460.73		\$34,705.30		\$34,766.00		\$43,501.64
Sub-Project F: INDIGO BLUE BLVD - ALBERT WHITE DR to CIRCLE DR Mi	l and HMA	Overlay wit	h ADA Impro	vements	•	<u> </u>	<u> </u>			
Pay Item Description	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Construction Engineering	LS	1.00	\$1,060.07	\$1,060.07	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$550.00	\$550.00
Mobilization and Demobilization	LS	1.00	\$9,889.83	\$9,889.83	\$3,900.00	\$3,900.00	\$5,000.00	\$5,000.00	\$4,325.00	\$4,325.00
Sidewalk, Concrete, Remove	SYS	118.00	\$58.79	\$6,937.22	\$21.50	\$2,537.00	\$67.00	\$7,906.00	\$21.50	\$2,537.00
Curb, Concrete, Remove	LFT	306.00	\$11.77	\$3,601.62	\$18.00	\$5,508.00	\$22.00	\$6,732.00	\$23.00	\$7,038.00
Milling, Transition	SYS	385.00	\$2.97	\$1,143.45	\$2.50	\$962.50	\$2.00	\$770.00	\$0.66	\$254.10
Milling, Asphalt, 1.5 in	SYS	8,207.00	\$1.97	\$16,167.79	\$1.95	\$16,003.65	\$2.00	\$16,414.00	\$1.68	\$13,787.76
HMA Patching, Type B	TON	20.00	\$186.87	\$3,737.40	\$136.00	\$2,720.00	\$130.00	\$2,600.00	\$178.00	\$3,560.00
HMA, 9.5mm, Surface, Type B	TON	710.00	\$92.43	\$65,625.30	\$91.00	\$64,610.00	\$92.00	\$65,320.00	\$109.50	\$77,745.00
Sidewalk, Concrete	SYS	20.00	\$93.32	\$1,866.40	\$78.00	\$1,560.00	\$130.00	\$2,600.00	\$116.00	\$2,320.00
Curb Ramp	SYS	50.00	\$126.56	\$6,328.00	\$156.50	\$7,825.00	\$200.00	\$10,000.00	\$323.00	\$16,150.00
Detectable Warning Surface	SYS	12.00	\$265.02	\$3,180.24	\$350.00	\$4,200.00	\$425.00	\$5,100.00	\$290.00	\$3,480.00
Curb and Gutter, Modified	LFT	306.00	\$37.56	\$11,493.36	\$46.75	\$14,305.50	\$38.00	\$11,628.00	\$70.75	\$21,649.50
Bed Course Materal	TON	21.00	\$53.87	\$1,131.27	\$50.50	\$1,060.50	\$130.00	\$2,730.00	\$82.50	\$1,732.50
Asphalt for Tack Coat	TON	2.20	\$712.37	\$1,567.21	\$1,800.00	\$3,960.00	\$1.00	\$2.20	\$890.00	\$1,958.00
Joint Adhesive, Surface	LFT	3,225.00	\$0.66	\$2,128.50	\$0.50	\$1,612.50	\$1.00	\$3,225.00	\$0.29	\$935.25
Liquid Asphalt Sealant	LFT	3,225.00	\$0.03	\$96.75	\$0.50	\$1,612.50	\$0.50	\$1,612.50	\$0.29	\$935.25
HMA for Approaches, Type B	TON	32.00	\$106.77	\$3,416.64	\$150.00	\$4,800.00	\$92.00	\$2,944.00	\$147.00	\$4,704.00
Casting, Inlet, Adjust to Grade	EA	2.00	\$1,947.51	\$3,895.02	\$1,140.00	\$2,280.00	\$600.00	\$1,200.00	\$1,220.00	\$2,440.00
Casting, Valve, Adjust to Grade	EA	6.00	\$230.84	\$1,385.04	\$785.00	\$4,710.00	\$600.00	\$3,600.00	\$500.00	\$3,000.00
Line, Thermoplastic, Solid, White, 4 in.	LFT	5,862.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Line, Thermoplastic, Solid, Yellow, 4 in.	LFT	5,862.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Transverse Marking, Thermoplastic, Stop Line, White, 24 in.	LFT	12.00	\$21.20	\$254.40	\$15.00	\$180.00	\$15.00	\$180.00	\$12.00	\$144.00
Maintenance of Traffic	LS	1.00	\$5,382.45	\$5,382.45	\$6,769.50	\$6,769.50	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00
Sub-project F Total			,	\$150,287.96		\$151,266.65	/	\$154,563.70	. ,	\$170,245.36

Total Project Amount:	\$978,968.72	\$1,024,500.00	\$1,036,497.10	\$1,255,617.27
Total Project Amount CCMG:	\$937,902.23	\$983,142.00	\$984,989.10	\$1,207,811.27
Total CCMG Match Amount:	\$468,951.11	\$491,571.00	\$492,494.55	\$603,905.63
				-
Total LPA Match Amount:	\$510,017.61	\$532,929.00	\$544,002.55	\$651,711.64

CONTRACTOR CONTACT INFORMATION	Midwest Paving, LLC	Calumet Civil Contractors, Inc.	Howard Asphalt LLC dba Howard Companies	All Star Paving, Inc.
	11827 Greenfield Ave	4898 Fieldstone Drive	2916 S. Kentucky Ave	4320 N US Hwy 31
	Noblesville, IN 46060	Whitestown, IN 46075	Indianapolis, IN 46221	Seymour, IN 47274
	Matt Kelley	Brad Rader	Josh Dillon	Steven Heilman
	317-776-8925	317-769-1900	317-849-9666	812-522-4477
AFFIDAVIT OF SUBCONTRACTORS EMPLOYED	YES	YES	YES	YES
BID FOR PUBLIC WORK - FORM 96	YES	YES	YES	YES
BID BOND (5% OF TOTAL BID AMOUNT)	YES	YES	YES	YES
EMPLOYEE DRUG TESTING PLAN	YES	YES	YES	YES
ADDENDUM ACKNOWLEDGEMENT	N/A	N/A	N/A	N/A

Certified By:

Date: February 2, 2024